CS (MAIN) Exam;2016 M-ESC-0-GSB
AT 318994 / GENERAL STUDIES
T94-U= I/ Paper I1

ReiRa aar : div g2 S7feBTT 37 : 250
Time Allowed : Three Hours Maximum Marks : 250

T9-u o feru fafdne egew

FUIT T¥] & 37X 33 @ qd [REforfgd Hees J7_9T &1 eqgdes ug :
el | 97 170 78 & S fg= 7k st g+l 4 &9 §

w3t T sifier &

% T | T & 70 133 3% 3G% T 177 T E

vl & I 3T AT F forE TR wiET GERT 3gE Sy Yav-uF d %97 T 8, 3% 35
HIEH &) TI 3g@ F-T5-FR (F.T1.T.) Jiae & J@-Y3 W Hiwd [Hee e T 357
ST FMMET | Iigiaa Frea & Sfais 7 e Jegq 7 (7@ 70 I W His 37 78] 7 |

31 4 ¥ HAT, TE 1G0T 8, HT S [HAT T TR |
N7-HE-IR YT 3 @It BIST §37T 5 I1 39% 39 Hl &8 ©F & BIel ST Ty /

Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting
questions :

There are TWENTY questions printed both in HINDI and in ENGLISH.

All questions are compulsory.

The number of marks carried by a question /part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space

provided. No marks will be given for answers written in a medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struch off.
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73t el 3 FT T St e 200 %] & 3HfaE Tg 87 TR | IW F g IqH Tig
D 3719 TEeEquf & | T e & FEE 8

Answer all the questions in NOT MORE THAN 200 words each. Contents of the answer are
nore important than its length. All questions carry equal marks. 12 % x 20=250

Q1. 693 iy Gsiies RIFEA & 39 AUES dwl R fawywared, afe wig g, W
== shifre, gl foeeh & wsmed  fatfa sfoffel ot syasaue & = '@
H A | S HaWel < 97 o femm @ | o eTueh foeR U sEe Wl ufwE
TSHifer b SehRIvT § ek 78 wgfl 1 357 7 ?

Discuss the essentials of the 69 Constitutional Amendment Act and
anomalies, if any, that have led to recent reported conflicts between the elected
representatives and the institution of the Lieutenant Governor in the
administration of Delhi. Do you think that this will give rise to a new trend in
the functioning of the Indian federal politics ? 12—

Q2. WA Hiu™ 1 egede 370, fas wrg gRRn e “Sr-hyit Ts % Ty §
STEUTRA IUFY” T T 7, foh HIWT % STEURN 2 ? WA TSI-SHGEAT S HeH H
30 IUSY <l WISt TEATEATST W <=l I |

To what extent is Article 370 of the Indian Constitution, bearing marginal note
“Temporary provision with respect to the State of Jammu and Kashmir”,
temporary ? Discuss the future prospects of this provision in the context of
Indian polity. 12%

Q3. “and TeHifte Ul wureht uRads % U@ R ¥ R W8, S srafaqst iR
eyt @ s wedia &var ® 17 ==t A |

“The Indian party system is passing through a phase of transition which looks :
to be full of contradictions and paradoxes.” Discuss. 12 =

Q4. €Y I TSA & Q@S & gy 4, e it wgcialiees H wfea 1 S
TR GiauE % Igee 149 ¥ ofoud 3 | W= i 5w @R i Aifa
FrEf=H h G HEAT A9 T (e 3R mereradiers) 6t feepiiar s
arfashur KT B A T TE |
Exercise of CAG’s powers in relation to the accounts of the Union and the
States is derived from Article 149 of the Indian Constitution. Discuss whether

audit of the Government’s policy implementation could amount to overstepping s
its own (CAG) jurisdiction. 12 =
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Q5. IERFH ()’ # v TORSE F WY T8 oS fasmer wow=t hitw |
Faae gitfefe d 9 ufaegofig € 2

Discuss each adjective attached to the word ‘Republic’ in the ‘Preamble’. Are
they defendable in the present circumstances ? 121
2

Q6. hifgar | # o= Afufulia fFm mr or 2 39 g #, w0 ow w7 T £
AR YAfdareh |iae & g siftreevi § e Hew i 8 ?
What was held in the Coelho case ? In this context, can you say that judicial
review is of key importance amongst the basic features of the Constitution ? 125

Q7. T URG TR AfFEm, 1935 3w uiws=a divam fFuffa &t feon o 2 ==t
HIT |

Did the Government of India Act, 1935 lay down a federal constitution ?
1)1scuss. 121
2

Q8. JIUARH (FTPaq) ™ T =1 arcd 8 2 3 el H TEEar ¥ TR
HIT |

What is a quasi-judicial body ? Explain with the help of concrete examples. 12

Q9. TIHEL e WA WAt e qen wufie wRen T@vte % & # el gan
<hl SehieTd 1 & | 3eh! feufa ofit wr-fsares & gum ¥g enoeh == goma § 2

Professor Amartya Sen has advocated important reforms in the realms of

primary education and primary health care. What are your suggestions to
improve their status and performance ? 12-.
2

Q10. “9rdl SEH T H, RIS waiett i e difa & @ 2 17 59 w9 H:
FHTATEATCHS TEr HIf |

“In the Indian governance system, the role of non-state actors has been only
marginal.” Critically examine this statement. 12%

Q11. “Tafve Tl W Teehrll o Y TwTierar qen weehi @ o SH-ggHiar ==t gt
2 17 9Ra % e & b g Traey Wow=Et Hif |
“Effectiveness of the government system at various levels and people’s

participation in the governance system are inter-dependent.” Discuss their
relationship in the context of India. 121
2

M-ESC-0-G5B 3



Q12.

T FEENEE % SAMGH! GEhih H, WA Bl A h IREH W R | HE9 |
37 faftres, Tofifass, anfeles, amfses qen wicpfass &ren W ==l i, 5

Q13.

Q14.

Q15.

Q16.

HIN YR § Freoiieh Afoshar 1 BT g3 2 |

In the integrity index of Transparency International, India stands very low.
Discuss briefly the legal, political, economic, social and cultural factors that
have caused the decline of public morality in India. 12%

AT AT TR a3 7 1991 7 Y& §C IR, FSfiehtor T Aeiehtor <6l A
yid qate €9 ¥ EA il § 2 39 eyl g o Ufd iRl 8 & ferg

TN T T Tehall & 2

Has the Indian governmental system responded adequately to the demands of
Liberalization, Privatization and Globalization started in 1991 ? What can the
government do to be responsive to this important change ? 12

2
2
“qreeqfier STRERIaE T ST 3K TEhld 4 WRa H WrHToeh-TTfeh e < Sfsha

T aren Brelt 8 |7 fevauft RS |

“Traditional bureaucratic structure and culture have hampered the process of

: . : o 1
socio-economic development in India.” Comment. 12~
2

¥R o1 fifd % gey gyl @ gheer Hive qur s e i aefd w
RIS STAT |

Examine the main provisions of the National Child Policy and throw light on
the status of its implementation. 1 2&

“qTE T SISk STHIST ds e Sgiideh &l ST W Wsl deh foh AR SR Tfeeh
ifera, Smrees, e i gomsiiel 78 & S 1”7 SR 3 g SHEEA A
IeqTEsier 3T USHIR-AT s < &wet § gfg % foTg SH-H 3 foh 8 2

“Demographic Dividend in India will remain only theoretical unless our

manpower becomes more educated, aware, skilled and creative.” What
measures have been taken by the government to enhance the capacity of our

. ; 1
population to be more productive and employable ? 12 =
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Q17. “Tava =R TS (S5 A.37.) & Afieh =AU wew N Sewd Avdiehwr & g A
AT MR H JaE- 3R W=l w0 2 | W (dfh) arafed ) e oy
el Yda gt 7, formen s fwfa it fommsfiear ext % <= aaie & 17
TR 9T o, 39 W ==t $Hifdw |
“The broader aims and objectives of WTO are to manage and promote
international trade in the era of globalization. But the Doha round of

negotiations seem doomed due to differences between the developed and the
developing countries.” Discuss in the Indian perspective. 122

- 2

Q18. IMaggITt FaUTa uiged & Hey #, Wi 1 qai=geh i F nfle ik i

ST T AT ShiToTY, |

Evaluate the economic and strategic dimensions of India’s Look East Policy in

the context of the post Cold War international scenario. 12—‘;’-
Q19. “vid H Sed Y HWUHE ATHH T SR IHF HeRIUSAl ¥ AANE Awed

Ik GRT SgaT g7 g% T (R wRend esfa we wed) % wiisw %

foru g & € 17 U IeEn o Wiy e il |

“Increasing cross-border terrorist attacks in India and growing interference in

the internal affairs of several member-states by Pakistan are not conducive for

the future of SAARC (South Asian Association for Regional Cooperation).”
Explain with suitable examples. 121
2

Q20. IIEH! (W T e, INTHH AT WiEhlaes T1aT) % Hawnss AN & @& 3R
IeTA FAT-FAT 8 2 590 WA <hl a1 oy 2 2

What are the aims and objectives of the McBride Commission of the
UNESCO ? What is India’s position on these ? % 12;
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